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1. ���  ��	
���
��������
�
�������{an}

 ���������ก���
�
��� ��ก  nan = 2+ 4+ 6 + k+ 2n

n2

"���    �#$���$�ก����$�%

n→ ∞
lim an

2.  �#$���$�%

n→ ∞
lim



3n+ 12n+ 27n + ..... + 3n3

1+ 8+ 27 + ..... + n3




3. ���    �#$���	
���
�
������ก"���  #$����  A  ��$�ก��A =
n→ ∞
lim




2nk

1+ 8+ 27 + ..... + n3




���%
�$�)�
�*
1. 0 2. 2 3. 4 4. 8
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4. ก���

%��  ��	
���
�����#.�������
#����ก����/��
)�  an
n→ ∞
lim 


an − a1

n

 = 5

���  "���  ��$�ก�����%
�$�)�
�*a9 + a5 = 100 a100

1. 500 2. 515
3. 520 4. ��) $)
��1��2��� 3�) $�1�4�1�

5. ก���

%��  ��	
���
�
����  "�2%��  ��	
���
��������
�
�������
�4� 5
4β {an}

�������  ���6���ก  9  1�
8"�ก �#$� �กก�$�6���กan = βn− 7

n+ 2
n = 1, 2, 3, .....

7  1�
8"�ก  ��	
���
�
:;����$�ก��1�
8���  108  "���   �#$���$�ก����$�%

n→ ∞
lim an

6. ก���

%�����
��  "�2  "���an = 2 ln(2n3 + 1) − 3 ln(n2 + 1)
n→ ∞
lim an = A

 �#$���$�ก����$�%
eA
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7. �� ��������
���
�
�8  #/�#$�%
���%
3 , 3 + 3 , 3 + 3 + 3 , .....

1. 2. 3 3. 4. ก�������!3
1 + 13

2

8. ���
��>�
�
;�� �  "�2  an = (23 − 1)(33 − 1)(43 − 1) ..... (n3 − 1)
(23 + 1)(33 + 1)(43 + 1) ..... (n3 + 1) n→ ∞

lim an = m

���%
#/�#$����  2553 m
1. 1698 2. 1700 3. 1702 4. 1704

9. ก���

%�� A =
n→ ∞
lim

5n + 1 + 3n − 1

2n + 1 + 5n − 1

B =
n→ ∞
lim

3n+ 2 + 3n + 27

9+ 3n− 1 + 3n

C =
n→ ∞
lim

4n+ 2n + 9n3(2n+ 2)
2n + 1 + 5n3(n + 4)

#$����  ��$�ก�����%
�$�)�
�*A + B + C

1. 2. 3. 33 4.59

5

68

5
34.5
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10. ��#��
�.��#$�  1 + 1

2
+ 1

7
+ 1

14
+ 1

49
+ 1

98
+ 1

343
+ .....

1. 2. 3. 4.7

12

12

7

4

7

7

4

11. 6���ก����
�ก�   ��$�ก�����%
1 − 1

2
− 1

4
+ 1

8
− 1

16
− 1

32
+ 1

64
− 1

128
− 1

256
+ .....

1. 2. 3. 4.2

7

6

7

9

32

27

32

12. 6���ก����
�ก�   ��$�ก�����%
�$�)�
�*3 + 11

4
+ 33

16
+ ∧+3n + 2n − 2

4n− 1
+ .....

1. 2. 3. 4.20

3

29

3

31

3

40

3

4
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13. ���   "���6���ก����
�ก�    �#$���$�%

n→ ∞
lim

n2b+ 1

2n2a − 1
= 1

n = 1

∞
Σ 


ab

a2 + b2




n

1. 2. 3. 1 4. ��#$�) $)
�1

3

2

3

14. ก���

%���
�ก� �$�)�
�*  A =
k = 1

1000
Σ (−1)k, B =

k = 3

20
Σ k2, C =

k = 1

100
Σ k ,

D =
k = 1

∞
Σ 2


1

2



k

1. 7,917 2. 7,919 3. 7,920 4. 7,922

15. ���  ��	
���
������#.��  :;��  "���#$� �ก�����
�����	
)�)
�a1, a2, a3, .....
n = 1

∞
Σ an = 4

���  ��$�ก����$�%
a2

1. 4 2. 2 3. 1 4. ��#$�) $)
�
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16. ก���

%��  �������  Sn =
k = 1

n
Σ 


1

k (k+ 1) + k k+ 1




n = 1, 2, 3, .....

#$����  ��$�ก����$�%

n→ ∞
lim Sn

17. %��  k  ��	
#$�#����  "�2���

n→ ∞
lim

k(n5 + n) + 3n4 + 2

(n+ 2)5
= 15 + 6 + 12

5
+ ..... + 15


2

5



n− 1
+ .....

"���  k   �#$���$�ก����$�%


18. 6���ก���  2  1�
8"�ก%
�
�ก� ����#.���
�
�8>�
�
;�� �#$���$�ก��  1  "�2��กB  1�
8
 �#$���	
  2  ��$����6���ก���1�
8��*�� 
�����  �  ����6���ก����
�ก� 
�*
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19. What is the value of 
n→ ∞
lim 2553 4 2553 8 2553 ..... 2n

2553 ?

20. ����
�ก�    �6���ก��$�ก��  9  "���  �
�ก� 1 + 2x

1+ 2x + 22x

(1 + 2x)2
+ 23x

(1+2x)3
+ .....

��	
������ ���%
�$�)�
�*log2x − (log2x)2 + (log2x)3 − (log2x)4 + .....

1.  �6���ก��$�ก��  2.  �6���ก��$�ก��  1

1 + log23

log23

1 − log23

3.  �6���ก��$�ก��  4. ��	
�
�ก� )
����8��
�8log23

1 + log23

21. #$����  x  ������%��  #/����%
x + x2 + x3 + ..... + xn + ..... = 0.
⋅
1

⋅
8

1. 2. 3. 4.2

13

1

6
−4 −9

2
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22. The number 2.5252525..... can be written as a fraction.  When reduced to lowest terms
the sum of the numerator and denominator of this fraction is :
A. 7 B. 29 C. 141 D. 349
E. none of these

23. �3ก�[�����ก��ก5�\2�3�  4 ]��  �����ก#��*�����3ก�[�����กก�2��1/*
�2ก�2
�
�;*
��	

�242���  ���#�� �3�����ก�� ��242�����*�� 
����3ก�[�����#�/��
���%
"
�
�����	
3

4

ก��]��
1. 16  ]�� 2. 24  ]�� 3. 28  ]�� 4. 32  ]��

24. �3ก������
��44���3ก�
;���3ก��*��� ���ก����3�  60  � ��  �3ก���
�*ก�2��1/*
"���
ก�2
�
�;*
�3�  ���#�� �3�����ก�� �   �
ก�2
�
�>$

�*�
ก�2�����4�
  �4�ก����2

3

�$��3ก����#�/��
���)
������$�%
%
"
�
���
1. 200  � �� 2. 300  � �� 3. 400  � �� 4. 500  � ��
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25. #$����   ��$�ก�����%
1

2
+ 3

23
+ 5

25
+ .....

1. 2. 3. 4.9

10

10

9

14

15

7

24

26. 6���ก����
�ก�   ��$�ก�����%
4 + 1

2
+ 2

22
+ 3

23
+ ..... + n

2n + .....

1. 5 2. 6 3. 7 4. 8

27. 6���ก����
�ก� �
�
�8   �#$���$�ก�����%
1 ⋅ 2
3

+ 2 ⋅ 3
32

+ 3 ⋅ 4
33

+ 4 ⋅ 5
34

+ .....

1. 2. 3. 4.3

4

5

4

7

4

9

4

9
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28. ����#$����  "�2  ����
�ก� �$�)�
�*Sn S∞

1. 1

1 ⋅ 2 + 1

2 ⋅ 3 + 1

3 ⋅ 4 + ..... + 1

n(n + 1)

2. 1

4 ⋅ 7 + 1

7 ⋅ 10
+ 1

10 ⋅ 13 + ..... + 1
(3n+ 1)(3n+ 4)

3. 1

1 ⋅ 2 ⋅ 3 + 1

2 ⋅ 3 ⋅ 4 + 1

3 ⋅ 4 ⋅ 5 + ..... + 1

n(n + 1)(n+ 2)

29. #$����  x  ��ก  ��$�ก����$�%
x

2
+ x

6
+ x

12
+ x

20
+ ..... + x

9900
= 198

30. ��������$�  
��
�*
�
�ก�    �6���ก1

n(n+ 1) = 1
n − 1

n+ 1 n = 1

∞
Σ 


5

2n − 3

n(n+ 1)



��$�ก����$�%
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31. ก���

%��  Sn = 1 + 1

1+ 2
+ 1

1+ 2 + 3
+ 1

1+ 2 + 3+ 4
+ ..... + 1

1 + 2+ 3+ ..... + n

����#$����  
n→ ∞
lim Sn

32. %��  ��	
���
��������
�
����  5
4���  {an} a1 + a2 + a3 + ..... + an = n2an

�������  ���  "���   �#$���$�ก����$�%
n = 1, 2, 3, ..... a1 = 100
n→ ∞
lim n2an

33. #$����  ��$�ก�����%
1

1 ⋅ 3 + 1

2 ⋅ 4 + 1

3 ⋅ 5 + ..... + 1

21 ⋅ 23

1. 2. 3. 4.325

462

335

462

347

506

357

506
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34. ก���

%��  "���#$����   �#$���$�ก�����%
�$�)�
�*an = 1

n2 − 4 i = 3

∞
Σ ai

1. 2. 3. 4.2

5

1

2

23

48

25

48

35. ���  "���   �#$���$�ก�����%
�$�)�
�*
n = 2

∞
Σ 1

n4 − n2
= A

n = 2

∞
Σ 1

n2

1. 2. 3. 4.3

4
+ A

5

4
+ A

3

4
− A

5

4
− A

**************************
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